[ Efficiency vs vertpos |

= 02
20.18F
‘g o
2 0.16F
O -
§0.14F
[ o
£0.12
0.1F
0.08F
0.06F

0.02

0.04f}--

IRET T 111111

1.0

Ratio

| 4+

0.95

T
+47
T+ |
|+
+
+

T s o

+

FEE = TF SRR

1072

10

1

10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

- 02

%016k |

A ] R S R

(O] - .

OB eeeeeeiee e e

3 r C 4

o P L RR AR

P o0k :

p0J 1] SRRERRRTRRLS P (P FRPR SPRIPPRRRS: PRSP

= E : :

L T e ITER (L CEEP PRCIRRUIRPRS R
0.08F --}------ Poedee e
0.06f- 1 O R Rt SETERRITTRS
0.04F - it -{---- Freseeses
o.ozj—](-- --------------------------------

* |
G 1 IIIIIII. L1 111118

Ratio

N
TTTTTTTT
i
+

—

,_\
o

{
N

=
"‘:

Efficiend

—— DQM_V0001_R000000001__Global__
—— DQM_V0001_R000000001__Global__|
—— DQM_V0001_R000000001__Global__|

cmssw1000time__RECO
mkFitNewOLD1000time__RECO
mkFitNewALL1000time__ RECO

~n 0.2

8 0.48F oot e

(2] n
>0.16F
>

LC) C
$0.14F
o L
£0.12F
(]

0.1
0.08F
0.06F
0.04F
0.02F

. 0OF

Ratio
N

0.95!

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~n 0.2

> : : : : :
Q0.18f- R R R

E

20.14F-
>

efticie

S S T A S

R e
R

0.08f-+-+ieenees R ;

0.04F
0.02

o : o+ ; :
0.06F -4 ++++++ ------- P

1.0

Ratio

o

10 15 20
Sim. PV z (cm)

~0.05
%.045
@
£0.04
o
3.035
=]
5
¥0.03
X
9.025
0.02
0.015
0.01
0.005

..................

..................

..................

Ratio
P
D

10 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

~ 0.05
>
80.045
£
50.04
9.035
2
©0.03
(2]
$.025
Q
£0.02
=}
9.015

—4 2 0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


